3-LLB - Provisional Answer Key

1. Which part of the Indian Constitution deals with Fundamental Rights?

(A) Part I (B) Part I1
(C) Part 111 (D) Part IV
2. What does 'Audi alteram partem' mean?
(A) To speak truth (B) Let the buyer beware
(C) Hear the other side (D) No one is above law
3. The principle of 'Strict Liability' was laid down in which case?
(A) Donoghue v. Stevenson (B) Rylands v. Fletcher
(C) Grant v. Australian Knitting Mills (D) Ashby v. White
4, Which section of Indian Contract Act defines 'Contract'?
(A) Section 2(a) (B) Section 2(h)
(C) Section 2(b) (D) Section 10
5. What is the antonym for the word "volatile"
(A) Stable (B) Steady
(C) Constant (D) All of the above
6. If in a certain code, “FROZEN?” is written as “ESNYDM?”, how will “MOLTEN” be written in that code?
(A) LNKUDM (B) NKMUDF
(C) LNMUDF (D) NMKUDF
7. A train running at a speed of 72 km/hr crosses a pole in 25 seconds. What is the length of the train?
(A) 400m (B) 420m
(C) 500m (D) 550m

8. Identify the grammatically correct sentence:
(A) Neither the teacher nor the students was present.
(B) Neither the teacher nor the students were present.
(C) Neither the teacher or the students was present.
(D) Neither the teacher or the students were present.

9. Choose the word which is opposite in meaning to “LUCID”:

(A) Transparent (B) Obscure
(C) Clear (D) Bright
10. In the sentence “He has been working here for five years”, the tense used is:
(A) Present Perfect (B) Present Continuous
(C) Present Perfect Continuous (D) Past Perfect Continuous

11. In which case did the Supreme Court recognize the ‘Right to Privacy’ as a fundamental right?
(A) Maneka Gandhi v. Union of India
(B) K.S. Puttaswamy v. Union of India
(C) Justice K.S. Puttaswamy v. Union of India (Aadhaar case)
(D) M.P. Sharma v. Satish Chandra
12. The S.R. Bommai v. Union of India case primarily dealt with:
(A) The power of judicial review (B) Federalism and President’s Rule under Article 356
(C) Freedom of speech and expression (D) Right to privacy
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13.

14.

15.

16.

17.

18.

19.

20.

The Guardians and Wards Act, 1890 primarily deals with:

(A) Adoption of children (B) Guardianship of minors and their property

(C) Maintenance of divorced women (D) Legitimacy of children

Under the Special Marriage Act, 1954, which of the following is NOT a ground for nullity of marriage?
(A) Bigamy (B) Unsoundness of mind

(C) Mutual consent (D) Prohibited degree of relationship

According to the UN Charter, the primary responsibility for maintaining international peace and security
lies with:

(A) The General Assembly (B) The International Court of Justice
(C) The Economic and Social Council (D) The Security Council
Principle: Ignorance of Fact is excused but ignorance of law is no excuse.

Fact: X was a passenger from Zurich to Manila in a Swiss Plane. When the plane landed at the Airport of

Bombay on 28 Nov. 1962 it was found on searching that X carried 34 kg of Gold Bars on his person and
that he had not declared it in the ‘Manifest for Transit’. On 26th Nov. 1962 the Government of India had
issued a notification modifying its earlier exemption, making it mandatory now that the gold must be
declared in the “Manifest” of the aircraft.

(A) X cannot be prosecuted because he had actually no knowledge about the new notification issued two
days ago

(B) X cannot be prosecuted because ignorance of fact is excusable
(C) X can be prosecuted because ignorance of law is not excusable
(D) X’s liability would depend on the discretion of the court

Principle: Mere silence as to the facts likely to affect the willingness of a person to enter into a contract is
not a fraud, unless the circumstances of the case are such that, on close examination it is found to be the
duty of the person keeping silent to speak, or unless his silence is, in itself, equivalent to speech.

Facts: X sells by auction to Y, a horse which X knows to be of unsound state of mind. X says nothing to Y
about the horse’s unsound state of mind. Give the correct answer-

(A) X can be held liable for fraud

(B) X can be held liable for misrepresentation

(C) X cannot be held liable, because he did not say anything positive about the mental state of the horse
(D) X cannot be held liable because it is the buyer who must be aware of the things
Assertion (A): The Indian Constitution was adopted on 26th November, 1949.
Reason (R): Constitution Day is celebrated in India on 26th November every year.
(A) Both A and R are individually true and R is the correct explanation of A

(B) Both A and R are individually true but R is not the correct explanation of A
(C) A is true but R is false

(D) A is false but R is true

Which Article of the Constitution abolishes “Untouchability”?

(A) Article 15 (B) Article 16

(C) Article 17 (D) Article 18

'Caveat emptor' is a principle that means

(A) Buyer is supreme (B) Let the buyer beware
(C) Seller has no duty (D) Price is negotiable
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21.  The first law commission of independent India was chaired by:

(A) M.C. Setalvad (B) B.R. Ambedkar
(C) AN. Ray (D) H.R. Khanna
22. How many persons must jointly commit robbery for it to amount to dacoity under BNS?
A)3 (B) 4
©)5 D)2
23. Under which law is a Hindu marriage registered?
(A) Special Marriage Act, 1954 (B) Hindu Marriage Act, 1955
(C) Hindu Succession Act, 1956 (D) Family Courts Act, 1984

24. What does the legal maxim “Actus non facit reum nisi mens sit rea” mean?
(A) An act does not make a person guilty unless there is criminal intent
(B) Ignorance of law is no excuse
(C) The thing speaks for itself
(D) Let the buyer beware
25. What is the maximum number of judges in the Supreme Court (including the Chief Justice) as of 2024?

(A) 31 (B) 32

(©)33 D) 34
26. Neither of the players available today.

(A) are (B) were

©O)is (D) have been
27. A bouquet of roses on the table.

(A) were (B) is

(C) are (D) have
28. Each of the boys given a prize.

(A) have (B) were

(C) was (D) are
29. Neither the manager nor the workers present.

(A) was (B) is

(C) are (D) be
30. The committee reached a decision.

(A) has (B) have

(C) are (D) be

31. Identify the sentence with a misplaced modifier.
(A) Running through the field, the flowers looked beautiful.
(B) The flowers looked beautiful running through the field.
(C) The boy ran through the field of beautiful flowers.
(D) The field was full of beautiful flowers.

32. Choose the sentence with a dangling modifier.
(A) After finishing the book, the lamp was turned off.
(B) After she finished the book, she turned off the lamp.
(C) She turned off the lamp after finishing the book.
(D) Finishing the book, she turned off the lamp.
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33.  Which sentence avoids a misplaced modifier?
(A) She almost drove her Kkids to school every day.
(B) She drove almost her kids to school every day.
(C) She drove her kids almost to school every day.
(D) She almost drove every day her kids to school.
34. Identify the correctly placed modifier.
(A) I nearly watched the movie for three hours.
(B) I watched nearly the movie for three hours.
(C) I watched the movie nearly for three hours.
(D) I watched the movie for nearly three hours.
35. Whatis the problem with this sentence: “Rolling down the hill, the tree struck the child”?
(A) Misplaced modifier (B) No modifier
(C) Dangling modifier (D) No subject
36. Which sentence maintains correct parallelism?
(A) She likes dancing, to swim, and biking. (B) She likes to dance, swim, and biking.
(C) She likes dancing, swimming, and biking. (D) She likes to dancing, swim, and bike.

37. Which sentence uses the article correctly?

(A) She is a honest person. (B) He is an honest man.
(C) I met a university student. (D) An European leader spoke today.
38. Choose the sentence that uses both articles correctly.
(A) He bought a ink pen and an eraser. (B) She gave me a hour to decide.
(O) I read an article and a book. (D) They own an university and an institution.

39. Which sentence uses a correlative conjunction correctly?
(A) Either you can come with us or stay home.
(B) Neither she sings nor dances.
(C) Both the teacher and students was present.
(D) Not only he is tall but also intelligent.
40. Identify the sentence with incorrect article usage.
(A) She is the best player on the team. (B) They bought an umbrella yesterday.
(C) He is an European businessman. (D) A dog is a loyal animal.

41. Choose the correct conditional structure:

"If he harder, he would have passed the exam."

(A) studied (B) was studying

(C) had studied (D) would study
42. Identify the correct use of a phrasal verb:

"She the application form before submitting it."

(A) filled on (B) filled in

(C) filled to (D) filled at

43. Which sentence correctly maintains parallel structure?
(A) She likes singing, to dance, and jogging. (B) She likes to sing, dancing, and jogging.
(C) She likes singing, dancing, and jogging. (D) She likes to sing, dance, and jogging.
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44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

5S.

56.

Choose the grammatically correct sentence using a conditional clause.
(A) If I will see him, I will tell him. (B) If I see him, I will tell him.
(C) If I saw him, I will tell him. (D) If I seen him, I will tell him.

Choose the correct phrasal verb:

"They the offer due to low salary."”

(A) turned up (B) turned in
(C) turned down (D) turned off
Choose the correct synonym of "abrogate" in legal context.
(A) fertilize (B) repeal

(C) decorate (D) elevate
Identify the antonym of "plaintiff"'.
(A) witness

(C) barrister

(B) stenographer
(D) defendant
Choose the synonym of "jurisprudence".

(A) refrigerator (B) law theory

(C) hydration (D) conduction
Select the antonym of "guilty".

(A) convicted (B) liable

(C) culpable (D) innocent

Choose the synonym of 'subpoena'.

(A) appetizer (B) summons

(C) landscape (D) garage

What comes next? 7, 14, 28, 56, ?

(A) 112 (B) 98

(C) 84 (D) 108

What comes next in the series? 3, 6,11, 18, 27, ?

(A) 37 (B) 38

©) 39 (D) 40

AZ,BY, CX,DW, ?

(A) EV (B) FU

(OET D) FX

“Ris the sister of M. M is the father of T. How is R related to T?”
(A) Aunt (B) Mother

(C) Cousin (D) Grandmother

Statements: Some pens are pencils. All pencils are erasers. Conclusion: Some pens are erasers.

(A) Only conclusion follows

(C) Both follow

(B) Conclusion does not follow

(D) Cannot say

Choose the odd one out: ACEG, BDFH, GIKL, HJLN

(A) ACEG
(C) GIKL
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57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

Today is Tuesday. What day will it be after 63 days?

(A) Thursday (B) Sunday

(C) Tuesday (D) Monday

All apples are fruits. Some fruits are bananas. Which conclusion logically follows?
(A) All bananas are apples (B) Some bananas are fruits

(C) All fruits are bananas (D) No apples are bananas

Which one of the following sets is logically consistent?
I. All singers are dancers.
II. No dancer is a writer.

III. Some writers are singers.

(A)Only I & 11 B)LI&III

(C) Only II & 11T (D) None follow

What comes next in the series? 2, 6, 12, 20, 30, ?

(A) 42 (B) 40

(©) 36 (D) 46

If today is Friday, what will be the day on the 10th day from today?

(A) Sunday (B) Monday

(C) Tuesday (D) Monday

What comes next in the series: 6, 11, 21, 36, 56, ?

(A) 81 (B) 82

©)76 (D) 80
IfA=1,Z=26,then AZ="?

(A) 127 (B) 27

(C) 28 (D) 53

On what day will Independence Day (15 August) fall in 2049?

(A) Monday (B) Sunday

(C) Tuesday (D) Wednesday

All flowers are plants. Some plants are medicines. Which conclusion follows logically?
(A) All medicines are plants (B) Some plants are not flowers
(C) Some flowers are medicines (D) Cannot be determined

All birds are animals. Some animals are reptiles. Which conclusion logically follows?
(A) Some birds are reptiles (B) All reptiles are birds
(C) Some animals are birds (D) No conclusion follows

Pointing to a girl, Ravi said, “She is the daughter of my mother’s only son.” How is Ravi related to the girl?

(A) Father (B) Uncle

(C) Cousin (D) Brother
Which direction is opposite to South-East?

(A) North-East (B) North-West
(C) South-West (D) West
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69. What day of the week was 26th January 1950?

(A) Wednesday (B) Thursday
(C) Friday (D) Saturday
70.  All pens are tools. All tools are useful. Conclusion: All pens are useful.
(A) Follows (B) Does not follow
(C) Partially follows (D) Cannot say
71.  Find the odd one out: BEHK, CFIL, DGLM, HIMP
(A) BEHK (B) CFIL
(©) DGLM (D) HIMP
72.  Which direction is exactly between South-East and South-West?
(A) East (B) South
(C) West (D) North
73. In acode, MEAT = NZBU. What is the code for BEEF?
(A) CFFG (B) CFSG
(C) GFFC (D) CFGF
74. A man is facing east. He turns 270° clockwise and then 180° anticlockwise. Which direction is he now
facing?
(A) West (B) East
(C) North (D) South
75.  On which day of the week did 2nd October 1869 fall?
(A) Sunday (B) Saturday
(C) Monday (D) Friday
76. In 2023, which country hosted the G20 Summit?
(A) Indonesia (B) Brazil
(C) India (D) Italy
77. The term “repo rate” is associated with:
(A) RBI lending to public (B) RBI lending to banks
(C) Banks lending to public (D) Government taxes
78. Where is the headquarters of the World Health Organization (WHQO)?
(A) New York (B) Geneva
(C) Paris (D) Vienna
79. The term “biodiversity hotspot” was coined by:
(A) Edward O. Wilson (B) Norman Myers
(C) Rachel Carson (D) David Attenborough
80. Who received the 2023 Jnanpith Award?
(A) Damodar Mauzo (B) Nilmani Phookan
(C) Amitav Ghosh (D) Gulzar
81. Who is the President of India?
(A) Shri Narendra Modi (B) Smt. Draupadi Murmu
(C) Shri Amit Shah (D) Shri Rajnath Sinh
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82.

83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

93.

Which leader led the Bardoli Satyagraha of 1928?

(A) Mahatma Gandhi (B) Jawaharlal Nehru

(C) Vallabhbhai Patel (D) Motilal Nehru

What is the minimum age required to become a Member of the Rajya Sabha?
(A) 30 years (B) 25 years

(C) 35 years (D) 21 years

Which Indian state has the highest number of national parks?

(A) Madhya Pradesh (B) Assam

(C) Maharashtra (D) Uttarakhand

Which missile is developed under the ‘Agni’ series by DRDO?

(A) Agni-P (B) Shaurya

(C) Prithvi (D) Astra

Who won the 2023 Nobel Peace Prize?

(A) Greta Thunberg (B) Narges Mohammadi
(C) Maria Ressa (D) Dmitry Muratov

“Fiscal Deficit” refers to:

(A) Excess of income over expenditure

(B) Total revenue of the government

(C) Total borrowing requirements of the government
(D) Difference between capital and revenue receipts

When the Envrionment Day is Celebrated?

(A) 4 May (B) 5 May

(C) 4 June (D) 5 June

Which of the following is a Ramsar wetland site in India?

(A) Chilika Lake (B) Loktak Lake
(C) Ashtamudi Lake (D) All of the above
Which Indian won the Best Actor award at the 2023 National Film Awards?
(A) Pankaj Tripathi (B) Allu Arjun

(C) Ayushmann Khurrana (D) Ranveer Singh
Which sport is associated with the term “Grand Slam”?

(A) Tennis (B) Badminton

(O) Golf (D) Cricket

Who was the first woman ruler of Delhi Sultanate?

(A) Razia Sultana (B) Rani Durgavati
(C) Nur Jahan (D) Chand Bibi
Which body conducts elections to the Lok Sabha?

(A) Election Commission of India (B) Supreme Court
(C) Parliament (D) NITI Aayog
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94,

95.

96.

97.

98.

99.

100.
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Which of the following is the longest river in the world?

(A) Nile (B) Amazon

(C) Yangtze (D) Mississippi

Which Indian institute developed the COVID-19 vaccine ‘Covaxin’?

(A) Serum Institute (B) ICMR-Bharat Biotech
(C) Zydus Cadila (D) DRDO

India became the 1st country to land on the Moon’s South Pole under which mission?
(A) Gaganyaan (B) Chandrayaan-3

(C) Mangalyaan-2 (D) Vikram Mission
Which of these is not a function of the Reserve Bank of India?

(A) Issuing currency (B) Managing foreign exchange
(C) Printing coins (D) Controlling inflation
The headquarters of the International Monetary Fund (IMF) is located in:
(A) London (B) Paris

(C) Washington, D.C. (D) Zurich

“Chipko Movement” was related to:

(A) Forest Conservation (B) Women’s Rights

(C) Water Crisis (D) Nuclear Safety

Which author won the 2023 Booker Prize for Fiction?

(A) Shehan Karunatilaka (B) Paul Lynch

(C) Geetanjali Shree (D) Colson Whitehead
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